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                                               基準点測量 高低角補正計算

                                         m                    m

                 器械点 A-R2       i1 = 1.595         g =    1.595

                 反射点 B-R5       i2 = 1.572         m =    1.539

                                   f1 = 1.663         D =   39.370

                                   f2 = 1.539

                                           ° ′ ″          ° ′ ″          ° ′ ″           m

                                   A1 = - 3 57 20    x1 =   0  0  0    A1'= - 3 57 20    dh1 =  -2.660

                                   A2 = + 4  0  8    x2 = - 0  3  3    A2'= + 3 57  5    dh2 =   2.657

                                                                       Am = - 3 57 13     δ =  -0.003

                                         m                    m

                 器械点 B-R1       i1 = 1.563         g =    1.563

                 反射点 B-R2       i2 = 1.579         m =    1.583

                                   f1 = 1.562         D =   51.780

                                   f2 = 1.583

                                           ° ′ ″          ° ′ ″          ° ′ ″           m

                                   A1 = -10 54 18    x1 =   0  0  0    A1'= -10 54 18    dh1 =  -9.816

                                   A2 = +10 53 51    x2 = - 0  0 12    A2'= +10 53 39    dh2 =   9.806

                                                                       Am = -10 53 59     δ =  -0.010

                                         m                    m

                 器械点 B-R2       i1 = 1.579         g =    1.579

                 反射点 B-R12      i2 = 1.500         m =    1.593

                                   f1 = 1.500         D =   34.700

                                   f2 = 1.593

                                           ° ′ ″          ° ′ ″          ° ′ ″           m

                                   A1 = - 8 52 29    x1 =   0  0  0    A1'= - 8 52 29    dh1 =  -5.367

                                   A2 = + 8 53 13    x2 = - 0  1 22    A2'= + 8 51 51    dh2 =   5.361

                                                                       Am = - 8 52 10     δ =  -0.006

                                         m                    m

                 器械点 B-R3       i1 = 1.580         g =    1.580

                 反射点 B-R11      i2 = 1.500         m =    0.100

                                   f1 = 1.500         D =   31.563

                                   f2 = 0.100

                                           ° ′ ″          ° ′ ″          ° ′ ″           m

                                   A1 = - 9 12 11    x1 =   0  0  0    A1'= - 9 12 11    dh1 =  -3.568

                                   A2 = + 6 31 30    x2 = + 2 40 13    A2'= + 9 11 43    dh2 =   3.564

                                                                       Am = - 9 11 57     δ =  -0.004

                                         m                    m

                 器械点 B-R3       i1 = 1.580         g =    1.580

                 反射点 B-R6       i2 = 1.500         m =    1.593

                                   f1 = 1.500         D =   52.732

                                   f2 = 1.593

                                           ° ′ ″          ° ′ ″          ° ′ ″           m

                                   A1 = - 3 52 29    x1 =   0  0  0    A1'= - 3 52 29    dh1 =  -3.576

                                   A2 = + 3 52 57    x2 = - 0  0 51    A2'= + 3 52  6    dh2 =   3.571

                                                                       Am = - 3 52 18     δ =  -0.005
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                                               基準点測量 高低角補正計算

                                         m                    m

                 器械点 A-R3       i1 = 1.715         g =    1.715

                 反射点 B-R7       i2 = 1.500         m =    1.500

                                   f1 = 1.500         D =   38.663

                                   f2 = 1.500

                                           ° ′ ″          ° ′ ″          ° ′ ″           m

                                   A1 = - 9 37 23    x1 =   0  0  0    A1'= - 9 37 23    dh1 =  -6.248

                                   A2 = + 9 18 20    x2 = + 0 18 52    A2'= + 9 37 12    dh2 =   6.246

                                                                       Am = - 9 37 18     δ =  -0.002

                                         m                    m

                 器械点 B-R13      i1 = 1.500         g =    1.500

                 反射点 B-R14      i2 = 1.500         m =    0.300

                                   f1 = 1.500         D =   40.908

                                   f2 = 0.300

                                           ° ′ ″          ° ′ ″          ° ′ ″           m

                                   A1 = - 5  1 54    x1 =   0  0  0    A1'= - 5  1 54    dh1 =  -2.388

                                   A2 = + 3 21 44    x2 = + 1 40 41    A2'= + 5  2 25    dh2 =   2.394

                                                                       Am = - 5  2 10     δ =   0.006

                                         m                    m

                 器械点 B-R20      i1 = 1.730         g =    1.730

                 反射点 B-R21      i2 = 1.500         m =    1.500

                                   f1 = 1.500         D =   43.529

                                   f2 = 1.500

                                           ° ′ ″          ° ′ ″          ° ′ ″           m

                                   A1 = + 5 11 14    x1 =   0  0  0    A1'= + 5 11 14    dh1 =   4.166

                                   A2 = - 5 29 48    x2 = + 0 18  5    A2'= - 5 11 43    dh2 =  -4.171

                                                                       Am = + 5 11 29     δ =  -0.005


